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Please check whether you have got the right qu%shor'i TJ
N.B: 1. Question No.1 is com pulsorm,r s . -

i ."'i'",

3 Figure to the right indicates marks.
4. Use of scientific calculator is allowed.
5. mixing of sub-questions not allowed

Q.1 a. Find the optimal strategies and value of the gamq fbrthejb lg\{(_iﬁé;
B S @S
1 -1 -.1 i % i g PR T

A 1 -1 =

-1 2 -1

Activity TR EE ]
Optimistic (to) | 3 8- /5
Mostlikely (tm) |6 |12~ |11
Pessimistic (tp) | 15 ‘~ ~3f};?.,3.1'-' '

l'

r-’ ‘ﬁ'.. s "':‘- -I}"' :
c. Write duan‘f‘th‘éfﬂ"ﬁwiﬂE tF‘F’“ TN
max:mlza‘“zhsxi-\lxlﬁﬂ g b ‘ﬂ} % j ;
Subject to-3x1- zscz‘JrS;RE 40 G g%ﬂb |
K1+?0(Qﬂl>6{ 'Zﬂ - ﬂ?

- ~

5% 2K 3;'12' o _,f}“
H ﬂ}ﬂ@t?.ls un restrlcted m;%«fﬁ

x, N

Q Iu I\ﬁuThé’ numhaﬁgp{IcQ of 2 _. e ;sﬁﬂﬂﬂ Rs. me the past experience the operating cost of the 08

=/
maf:hmaiam ord
;._.\'L \ AT R
.._"-'1-1-.'_"'..!': y‘gp sl .‘f*‘\ ;

i S 3 4 5
0,000 - - -[ 12,000 ' 15,000 18,000 20,000

thi tmgtostuﬁ 000k Where k=6, 7, 8, 9, 10(k is the age in years). If the resale
'fpurchaﬁaphce each year, What is the best replacement policy? Cost of

--

07

3321695B20842B155E053B1185633C82




08
07
08
07

L1
=
t —
E s
G Em £ 25
4 C D. i T3 bt
. i Il ot a = |w
! ..B.— % - .M L | = ol = m ' B
o L i .nH = | 0O | ef | on = = oS 2 o %
ocg 2 s i ~jo| 2 3 m 5
o Pt S x| s © 2™ =
* s m,...m\ P i = i H_l_u_. m o D_r m
0. o S - L, = = =
m i S - m v ] U Q=
< =] Y oa i = = e
E (] I | oy e Wi i =] oo B
[ 4] m M m ¥ & o = Slealinl o m - = =
= o U s o, T =l R s © g 2
z S EE Gy _ i & E =98
= 3 S . g .86 g
= =53 2 Holdl bl 82
o 2 & B4 oo ol €SS
o = ...tu_.......q__._.\.x_ 1 L o o o =2 —- 2
.".1-_- Q T s .m M_.w 3. ,.. ! C ¥ B A .........m. __m..r(._..__“.. oy w m m =
i a2 B el i T e ¢ av 2
o = a E =] Wlh 7 TR o = 9 &
o e 2 ﬁﬁuQ:. 2D 3, wlo|lo g &5 o
= o Sl b " a....._un. .mu...__...n .EU_.._.._......._. ; 5 w = e oo
o o 8 B gim ] Ay T o e (= £ W ®
=3 28 38 o o A . e w B m = W..._.v
S v E O B Ef bl | Ercs 2
e 12 _n.l.u.unnaa i S o .W..... =
e §= g - o O 5 g e 2 o
= <+ F @ o o ; Wtigiéi - ?WHV =2
Lo} M =] wjuwy | W o £ ".wl_...... ﬂ.. i ._w.. el ¢ "1 ] 1) m Q “
o u £ e = .be%iﬁg : = wEHW @
o« =y T RACHE =] s pus D - o = o+ s
= Mmoo e Tt : o = HDVC i
23 £ 2R LB 2 et 3
R e = o o P £ h s i e e A N o= £ 4, T o~ M
@ wig w-o | e L Y e b 1 8 . i A
M.E ™ a oo il Eb e | oy a’ .._nuu.l.r =
Eh..m g b = e s TS G h Rt T Al Gy - ; by
- — = oo = s L Lt ) . e ) RS L 6o ~ = = fun]
e by . = 1% & Fy ey < << 3] o
s ® e - o (] It g i e ay A = S
s08 a ¢ _ g B e ! E w's & &
w2 - o 7. X 43 S W o ’. i o8 5 =
a = T [&] T a L] | T3 - W iy o ) o~
c © wlm o e oo Ao L K ) 2 ac o
= ah ol |w — . o ; dir B ] o - A TR} ]
mrr_am m e ..n._r.....__., I _".WM & .M.ﬁ.u-rl_. o
o O ﬂ E < r~ Vi Al @ ﬂ vl Rl ot Ra . e e .m ‘0, 2 w =
m s W i I ] o o b R ] . v W‘J ._..,_T.. 4 b = L @ H =~
w L] o w_ -m .“n W—M b ..¢u .}L & Mr 1 .wu.mn.ﬁ__..._.u o f ._.T._.«... ...“. Rq.ﬁrm H
- i e Tl e = L f s =
IR it SEofu¥ ° Fars X $9 e 5
B o .N o AL 1 e o N o a . T . MO .nr.\_ﬂ_umu
e i @O - X o = E PR el i 5 e L .
S v h ] 2= ™ o = T 5 - = ; o - HO Al
5 & = o 8 v -l s o 4 L =g i e
Fcnm . B3 8 E nﬂ?ﬁh xﬂﬂﬁ_f
8 £5]| |EI5|E ZET = e § “eal [ ,w.q_x..._.hsnp,,_.
o o m £ s|s = = a - R M E o= r il aol = = T ¥
w O M M ﬂw M m = = m m . Tl “m w_..h = .m...r.._mx.m..._ﬂ”._ /
i a5 E& s 238 S w2, s S 5
- vl | D amnu.ﬂ_- - o ...q“..h..._..‘_ | ..,q_“___m_.
o 1 m =l |n|w il | ] = ‘ gy o I x..lum.,._T_.__._._.... [ el .x.m\ ..n_“.
D Lid Fl.ﬁ .le-.u_ a ] m i - G J..tﬁrﬂ._ ..-—“—”..._".,_ ....._ ; ...qwx m-_“.... ......._\u
s3E% B ey i /ol s g
“ g2l | S8l S Rl
o — Ao 2 . s ,c-_gmu,wa&m;.mn
- .h. : ....-._ E. w ¥ .v._.h,...r.._x\....\.p i
F T I 'y o - i 4
Ly T i e _n_.‘..__.n., “
..\.,_.,.. i) . g \...N.... A.\/m-.. K,
o .... ¢ \._vq_w._. ..“““...__.a.m\u.__.m_..-_
ot . L xx.x.__e...ua _u@z__r_hm.
d # b h . P »
o o Bt
ok g e T e e
.__h._p s PR _“.....w..u." ..._.Mmf,.h.;.\m_hn.‘“b..
.-.x..__.ﬁr%rﬁh._ﬂ.(s.mw.ﬂ...—\-._.h-‘aﬁ
" __.1,‘...-..23 ﬁ_.._nv H.\_w.wmm.. \._.l.r
\_H.__..r. 2y ._.‘U_....r ;.,.‘..._____J., __.m.u. .__\1-v.._.__
Ay ol Y o .M.-w.ﬂ: .r._.-‘_..r_r‘_. 3
ks ......w. .......H.r_r... .._m..\ m.”_.u_.\.
T TG mﬂ...;




T8623 / T0249 OPERATION RESEARCH

v |
wirm| el

b3 | B | L | Y

-0
wvlw|e

a. Consider the data shown below for a project H
i. Draw the network diagram and determine the project duratlunan

ii. Determine total float, Free float and independent ﬂoataf';:p egclq aﬂt
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b. Solve the following LPP by Dual stmpiex methnd
Minimize Z=10x1+b6x2+2x3

Subject to: x1-X2+X3=1,

In-x2-x3=2, A :
x1,x2,x3=0 PSS '
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a. A ﬂ:uc-d product company s conmmplatmg the mtrndur:tmn 0[5’&

the existing product with.a new package ata smali incr
composition of the exlstmgpmduct with a_ neghg:bte lnc;@
nature of events are: I}ng'ﬁ increase msales{hll} i

_li‘f'

ce . (S}} nr
r;%{&}&} The three possible states of
:n sai;-:ss U'\IE} and iii) decrease in sales
{N3). The marketing ﬁepartrnent of the company wu,[ ed ﬁlﬂ the: paynffs in terms of yearly net profits for

a small change in the
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N1 ol e ?mung { -4 5,00,000
N2 Mﬂ - 1:3,00,000 & 5. 4,50,000
(N3 PR S S | 15&@@ "@::m 0 -

S3

3,00,000
3,00,000
3,00,000

%15
e &

e e K, TR F

% - &

Wh‘Efbst\rEteggﬁthe cﬂmpanv sli’uu \Fﬁﬁm on the basis of i) Maximin criterion, ii) Maximax criterion,
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bLa?. ﬂrmmakes twﬂ t}p fu!ﬁiiture Chair and tables. The contribution for each product as calculated 07

bv thq‘accnuntlng depﬁ@ﬂ fﬁ is Rs 20/ per chair and Rs 35/ per table. Both products are processed on
.", % sthrge fﬁacmnes v ‘,.:. 2 W Ma TheilmarEQU|red in hours by each product and total time available in
4 houmer ' week on.&achm

hachine: are as follows.

AN CHaiE o Table Available Time
W = 3 36
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